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1 ASIC History reconstruction
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Full rec. spectrum
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Timing jumps
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Characteristics
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Parasitic data ?
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First efficiency with memorized evts
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Summary

= Timing can be reconstructed « -30s to the trigger

= ~1% of frames are in “timing jumps”

» Characteristics
= ~evenly distributed in all asics
= Not correlated between ASICs
= Timing distributions looks OK if jumps are removed
= Data “in jumps” look reasonable too

» Possible origins:
= Readout pbm = will be checked with uMeGas 4HR + DIF data
= HR write pointer jumps

= Sim. data reviewed by F. Dulucq: OK » 70 & 10 MHz (jitter btw clks ?)

= Possible: X-checks:
= look for existing data in jumps

= Special calib data runs

= Start of use of the full statistics of HR
V. Boudry DAQ pour le m3 & devt ILD - SOCLE Annecy, 9/12/2008 9



Efficacité avec evts memorises

1ére reconstruction d'évt en train de « type ILC »

Sélection en position: 1 pad en X et Y.

Sélection en temps:
* Ot< 5% Position prédite
* disponibilité des cartes.
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Calibration en temps

Corrélation en temps entre les differents ASICs
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